Tableaux des Puissances de Dix (A)

Multipliez le nombre de la rangée par celui de la colonne.

0,01 0,1 0,001 0,0001

55

29

21

20

92

0,001 0,0001 0,01 0,1

12

46

91

96

38

0,001 0,01 0,1 0,0001

12

46

31

77

0,001 0,0001 0,01 0,1

96

29

74

45
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Tableaux des Puissances de Dix (A) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 0,01 0,1 0,001 0,0001
55 0,55 55 0,055 0,0055
29 0,29 2,9 0,029 0,0029
21 0,21 2,1 0,021 0,0021
20 0,2 2 0,02 0,002
92 0,92 9,2 0,092 0,0092
X 0,001 0,0001 0,01 0,1
12 0,012 0,0012 0,12 1,2
46 0,046 0,0046 0,46 4,6
91 0,091 0,0091 0,91 9,1
96 0,096 0,0096 0,96 9,6
38 0,038 0,0038 0,38 3,8
X 0,001 0,01 0,1 0,0001
6 0,006 0,06 0,6 0,0006
12 0,012 0,12 1,2 0,0012
46 0,046 0,46 4,6 0,0046
31 0,031 0,31 3,1 0,0031
77 0,077 0,77 7,7 0,0077
X 0,001 0,0001 0,01 0,1
96 0,096 0,0096 0,96 9,6
29 0,029 0,0029 0,29 2,9
8 0,008 0,0008 0,08 0,8
74 0,074 0,0074 0,74 7,4
45 0,045 0,0045 0,45 4,5
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